
  
  

  
  
  
  

  
  
  
  

  
  

 
  
  

 

 
  
  
  

  

                   
  

                

1  

    

40  1  50   70      
 1  
 2  

     

2     1 20  51  70  30   2 

3     
1 

20  71  90  20   2 
 

 

29 1402
 

      

  

 
  

  

 
 

 
 

 

   !  
           .              
*    .         .          
*     .              .      

www.konkkur.in

Telegram: @konkur_in



  
  

  »29  1402«  
     

  
      :120    

  
:    80    

  

        
   20  20 -1  

   1 10  30 -21  
2 40 -31  

  10 50 -41  

   
 1  

20  
70 -51  

 2     90 -71  

   
 1  

20  
110  -91  

 2   130 -111  
   80 130 -1  

  

  

      
       -  -  -    -    -      -   

  -  -  -  -   

     -  -  -  -  -  -   
   

    -  -  -  -  -   

  
 - - - -  -  -   
  -   -    -    -    -      -     

  -  -  -  -  -  -   
 -  

  
 - - - -  -  -   

   -  -  -   -    -    -    
  -  -   -  -  -   

 - -  
  

    
            

                 

 
  

 
   

   
 

     
      

  
                    

               
                

  
  

     
  

     
     

   :     :     
      
      

  

    
     » «  

 :                923923       :   :64636463--021021

www.konkkur.in

Telegram: @konkur_in



   29  1402    3

  
1-   0 5 1= −  21 7= − + −      .           

     + + +         

1( 2  2 (1  3 (2-   4 (37        

2 -  2 3−          2 3+   .           

1( 5−   2 (
3

   3 (   4 (1      

3 -    3 3 3 34 3 2 3+ +    
31−       

1( 162  2 (148  3 (124  4 (108     

4 -     .    15 ++=     10 4
8

125=  18 15−      

1( 3
5   2 (9

16   3 (3
4   4 (15

16     

5 -    
2 − +=

−
   .    2      

1( 3
4                              2 (1

3   

3 (1     4 (2       

6 -   22 7 1 0− − =  α  β  .    2 3α +  7 12 β +        

1( 24 77 196 0− + =     2 (24 77 49 0− + =   

3 (24 77 196 0+ + =     4 (24 77 49 0+ + =     

7 -     2 1= −     2 1= + +   5      

1( 18/0  2 (35/0  3 (43/0  4 (5/0     

 : 1 :  1  5 /1  :   : 30 

1
− + +

www.konkkur.in

Telegram: @konkur_in



   29  1402    4

8 - = −   0 2 )    (.         
  
  
1(        2  (   
  
  
  
  
3 (       4   (  
  
  

9 -  
2

2
4 7
4 5

+ +
=

+ +
      .+

−
        

1( 2  2 (5
2   3 (7

3   4 (3     

10-    2 1 02= + ≥      .  1 3−       

1( 2
2   2 (1

2   3 (2   4 (2       

11 - = − + −4 4  = − +2 1            )    
(.  

1(   2( 1  3( 2   4( 3 

12 - 2 += +     1 17−    
1( 2       
2( 3   
3( 4       
4( 5   
  

13-     20     1
3              .   15   

       6 2 0 38    
1( 82  2 (80  3 (78  4 (76     

3

1

y

x

www.konkkur.in

Telegram: @konkur_in



   29  1402    5

14-  1 1
2 22 3 2 3− ++ = −       

1( 2
3 2−

   2 (2
2 3−

   3 (3
3 2−

   4 (3
2 3−

     

15 -    8=  2=         

1( 32 3 2+                             

2 (32 2+   

3 (4 3 3+   

4 (32 3 2−     

16- 3 3 0+ − <                     
  
  
1(       2    (  3    (  4  (    
  
  

17- 0 050 25+        

1( 0
1
50

   2 (0
1
50

   3 (0
1
25

   4 (0
1
25

      

18 -     .      
0−→

− )    (.        

1(                                       
2 (1  
3 (2  
4 (3     

19- 
3

20
1

→

−      

1( 1
3   2 (1

2   3 (1
12   4 (1

6      

20 -  1= − − π ∈ )  (.      
1  (       2  (     
3  (    4  (     
  

www.konkkur.in

Telegram: @konkur_in



   29  1402    6

  

  
21-        9   .                 

6        
1( 3 5   2 (6 2   3 (2 5   4 (4 2    

22 -      1
4=           1

2    

      
1( 25                              
2 (15  
3 (30  
4(20      

23 -      1 1=  2 9=               
1( 10                                    
2 (11  
3 (12  
4 (13     

24 -   4              .           
1( 8                                         
2 (9  
3 (10  
4 (12     
  

25 -         .   2 3=        

1( 7
3   

2 (5
2  

3 (4   
4( 3     

:   
 :     1)2130 (2)3140 .           (

1:      :  15 

www.konkkur.in

Telegram: @konkur_in



   29  1402    7

26 -                .             

       

1( 1
2   2 (2

3   3 (3
4   4 (3

5     

27 -      1  6             7  .       

            .             

  39           

1( 3                                2 (4  

3 (5    4 (6     

28 -     2   .   075=          

1( 2 3                         

2 (4  

3 (4 2   

4 (4 3     

29 -                .           

                .               

1(         2    (   

3   (     4   (     

30-               25       .3  

                       

1( 5/12    2 (1    

3 (5/10    4 (9   

    

www.konkkur.in

Telegram: @konkur_in



   29  1402    8

  

  
31- 10                  

1( 027     2 (036     
3 (054    4 (072       

32 -              
1( 4                               
2 (5  
3 (6  
4 (8      

33-                         
           
1( 12                                     
2 (18  
3 (24  
4 (30     

34 -     2=  3=    .  1  2          
2 1 ′=     ′         

1( 2 10     2 (6    
3 (13     4 (5     

35-    2+  5+  8+     2 21 .       
1( 20 3     2 (20    
3 (40    4 (20 2    

36 -                   13      
1( 5/3                              
2 (4  
3 (5/4  
4 (5     
  
  

:   
 :     1)2130 (2)3140 .           (

2:      :  15 

www.konkkur.in

Telegram: @konkur_in



   29  1402    9

37 -           

                  .      

              .  

   .            

                   1  .   

1( 1    2 (2    

3 (3    4 (4       

38-    3       .        ′     .      ′   

 α      ′′    .  6′′ =   α         

1( 090     2 (060     

3 (0135     4 (0120     

39 -     3  5    10′ =          .     

             

1( 25/16    2 (25/17    

3 (75/16    4 (75/18     

40 -          .         .6=  8=   

         

1( 2                                         

2 (5/1  

3 (4
3   

4 (5
3      

  

www.konkkur.in

Telegram: @konkur_in



  29  1402    10

  
41-                                .

         

2 24 0 3 0∃ ∈ − + = ∀ ∈ + + ≥   

1( 1
2   2 (3

4  3 (2
3   4(  5

6    

42 -             

1(      2 (∨ ∧ ∨   

3 ( ∧ ∨ ∧    4 (∧ ∨ ∨   

43 -    4/6 . 3                4       

         

1( 7    2 (6    

3 (5    4 (4     

44-    1 2 3  .                1 2 3    

+ +         .       4          

1( 1
2     2 (1

3     

3 (11
36     4 (5

18    

45 -       2 1   20 18 17 15 7 1         

                

1( 8    2 (6    

3 (4    4 (2     

:          :  10 

www.konkkur.in

Telegram: @konkur_in



  29  1402    11

46-       105     1  105    12  33         

103         )        (.      

1( 1
3    2 (1

4     

3 (1
2     4 (2

3    

47 -         76/5  .       0 16   

          

1( 12    2 (20     

3 (18    4 (15     

48 -       ′ ′− = − .              

          

1( ∅     2 (     

3 (     4 (     

49 -    1 2 3 100=                        8  12 

     × − ×            

1( 72    2 (80    

3 (92    4 (96   

50-       3    5       3    2         .   

                             .

                           

1( 4
11     2 (5

11      

3 (6
11     4 (7

11   

   

www.konkkur.in

Telegram: @konkur_in



   29  1402    12

  

51 -                   

1(      2  (    3  (   4  (       

52 -                  31 2          .    

31      3   (.      ) 

1( 3/1  2 (4/2  3 (5/1  4 (6/1   

53-        600     .              

  
3

 

1(35 10×     2(410          3( 65 10×               4(710      

54 -    10   400                .     

            800         .       

                3   ) 31 (.

1( 3  

2 (5/4  

3 (5  

4( 7   

55-          

1    (      2        (   

3(          4     (    

:   
 :     1)5170 (2)7190 .           (

1:    :  30 

40

200
}

g

( AV(cm  )3(فلز

m(g)

( B(فلز

www.konkkur.in

Telegram: @konkur_in



   29  1402    13

56 -             10    10         

10              .      

31=ρ  30 8=ρ  10=

1( 31 8 10×    2 (1 8    

3 (18    4 (9   

57-              31 9ρ =  ρ             

           .   77  ρ  3 )     

0 75= 313 5ρ =½¼Ã]  210= (.    

1( 9/0    

2 (7/1    

3 (2/1    

4 (8/0    

58-)      1  (22 )    2  (23   .4/20  )    2 (

                 

)13 6 3ρ =½¼Ã]  1 3ρ =JA(

1 (2  

2 (3  

3 (5/0  

4 (72/2  

20cm

A

www.konkkur.in

Telegram: @konkur_in



   29  1402    14

59 -              0     1              

   2  3      2  2

1
  

1( 16-   2( 8-   3( 16   4( 8    

60 -   1      4                    .

         4             210= 

1( 4/0   2( 4  3( 2/0  4( 2  

61-   0 5                 1  2    

         .1            12      

50    2      
1( 14-   2( 16-   3( 86  4( 22   

62 -    200    60 .              
1( 4000  2( 20000  3( 6000  4( 8000   

63 -     °160     1            .
  3% )  = °25  (    

1 (320   2 (345   3 (653   4 (576    

64-           05           2        
015    .         020          070    

        ) .( 
1( 55  2( 40  3( 45  4 (50   

65 -         2    − 020       . 700   
                       

02 1 336= = 

1( 600  2( 540  3( 9  4( 10   

www.konkkur.in

Telegram: @konkur_in



   29  1402    15

66 -          .       20         %

 1 8   (.    )          .

1( 91  2( 364  3( 455  4( 182 

67 -                       160     

     80          120         .   

    

1 (360  2 (360-  3 (80  4 (80-  

68 - −   64           .          

  →   1000   −    = =32 8pI¬

1 (−5 8   

2 (−1  

3 (−6 4  

4 (  

  

69 -     °87   600     .             

  °27          

1 (10  2 (100  3 (10-  4 (100-  

70 -   )   1)  (2  (  η1  η2          1  2   

    .  ) 3   (+1 2      2         

  

1 (1
1 2

η
η + η

   2 (η
η

1
2

  3 (η
η + η

2
1 2

  4 (η
η

2
1

        

T(K)

P(      Pa)

P+

P

b

c
a

27 327

2

10
5

www.konkkur.in

Telegram: @konkur_in



   29  1402    16

  

71-       1 2 1= −  3 8= −                 .

           1     

1( 9
4    2 (9

4−  

3 (1
4    4 (1

4−   

72 -                              

    .2−   2   2                

                  2− .........  .    
1 (   .    2 (     .  

3 (     .    4 (100     .  

73 -   0<         .               

                  
    (  .  

      (     . 

 (         .  

    (    .  

1 (  2 (1  3 (2  4 (3  

74 -                       .    

    20                5/2     

             . 
1( 52    .    2 (52    .  

3 (48    .    4 (48    .  

:  
 :     1)5170 (2)7190 .           (

2:    :  30 

qAg <<0

×
A

L

q
3

q
1 q

2

L22
L

www.konkkur.in

Telegram: @konkur_in



   29  1402    17

75-              .  50           

           ) 11
250

− (.  

1 (5
6  2 (1

5  3 (6
5  4 (5  

76 -                   

1 (4
9      

2 (4  

3 (4
3      

4 (8
9  

77 -                         

1 (8 1
3     

2 (36
5 1

3   

3 (8     

4 (4 1
3   

78-               

1 (2  

2 (3
2   

3 (9
4   

4 (3  

www.konkkur.in

Telegram: @konkur_in



   29  1402    18

79 -        1      .             

       )     (.     

1( 06/0                                    

2 (09/0  

3 (18/0  

4 (12/0     

80-         6      12Ω   

1 (1   

2 (6/0  

3 (4/0  

4 (2/0  

81 -                     .      40= − μ    

200   0 5                   .

 300             

1( 58 5 10−×            

2( 58 5 10−×    

3( 41 6 10−×    

4 (41 6 10−×   

www.konkkur.in

Telegram: @konkur_in



   29  1402    19

82 -        0 2                

0 2                   0 3    .

                  0 2 
1( 2 5         

2 (2 5     

3 (5         

4 (5     

83-                             

               .       1 15 1= = 2 210 2= =  

3 340 4= =  .                       

              100            

           7 19
0 12 10 1 6 10− −μ = × = − ×

1( 66 10−×       

2( 66 10−×  249 6 10−×  

3( 51 8 10−×    

4 (51 8 10−×  249 6 10−×  

84 -         5                   

1  2                 .         

   7
0 12 10−μ = ×

1 (3 1 8− −        

2 (0 6+  

3 (0 6− −  

4 (3 1 8+   

I

I

I1

3

2

==1 25

=2 15

www.konkkur.in

Telegram: @konkur_in



   29  1402    20

85-     15      2        .30        

2            7
0 4 10−μ = π ×

1( 1    2 (10    

3 (5    4 (50   

86 -           .                 

  

1   (                 

2    (  

3   (  

4  (      

87-                          .

                      

1 (ε > ε > ε      

2 (ε > ε > ε  

3 (ε = ε < ε  

4 (ε = ε = ε  

  

www.konkkur.in

Telegram: @konkur_in



   29  1402    21

88-                       .    

                

»                    .« 

1(     

2   (  

3  (     

4    (  

89 -     8  200             1500     .   

  0 4           .          2     

                      3π =

1( 0 18 0 36     2 (40 18 18 10−×    

3( 1 8 0 36    4 (41 8 18 10−×  

90 -    0 12    .      2              600 

              .  

1( 240      2 (540     

3( 0 24    4 (135   

  

www.konkkur.in

Telegram: @konkur_in



   29  1402    22

  

91-   
1 (                  .     

2 (  .                 

3   (         5
1 .      

4  (               5/1         .  

92 -        ...................
1(  .               

2  (3
26

+   24  5   2=   .  

3   (         0 75  .         

4 (  .             

93 -         

     (0
1−    .                 

          (    238 .  

         (  »=«     »=«  .  

            (             1
5  .  

1 (4   2 (1   3 (2   4 (3   

94 -            3 1
2

2
+ 4

3
+      2 

5
2    .  3 2

1
+4

3                

3
5
4                 )       

(.     
1(60 25   2(60 75   3(61 25   4(61 75  

:   
 :     1)91110 (2)111130 .           (

1 :    : 20 

www.konkkur.in

Telegram: @konkur_in



   29  1402    23

95 -          

1   (            5 .  

2(      2  2        2   2      2   

2   .    

3      (2                  2 .  

4       (             .  

96 -    

1(                    .    

2       ( .                 

3               (                 .  

4       (            .  

97 -    79 2−    25             

          :
:

X::  .  

      13   3=    .    

       4+ =  .  

            24 .  

     22   1≥ .    

1 (4  2 (3  3 (2  4 (1  

98 -          

          (        .  

       (          5        .  

  (                       .  

 .                   (

1(      2  (    3  (    4  (   

www.konkkur.in

Telegram: @konkur_in



   29  1402    24

99 -                     2 

2
2 3 3 2

− −  

1 (3  2 (4  3 (1  4 (2    

100 -        

         (       .      

   (                     .    

  (    3 2  2    4 .  

  (               .  

  (                    200 .     

1 (5  2 (4  3 (3  4 (2  

101-        

                .  

        .         

                  .  

                   .  

                           .  

1 (3   2 (1   3 (4   4 (5   

102-   2 4           :

2 4 3 2+ → + +  

  2/55  2 4                         

          2      114 1 16 −= = =      

)        (.         3 2 2+ → +  

1 (44/13  1/5   2 (72/6  1/5  3 (44/13  2/10  4 (72/6  2/10  

www.konkkur.in

Telegram: @konkur_in



   29  1402    25

103 -            :

  2 2 2 2 3 2
2 2 3 2

2 2 2
2

+ → +
+ → +

   

      6/3    76/2                  

 ) 5/7      5/1     ) .(       .(     
11 16 −= =   
1 (75  2 (10   3 (50   4 (30    

104-      5       4         .     

 142              .    )   
11 − .    (140 35 5 −= =  

1 (71  2 (1/7  3 (142  4 (2/14  

105 - 90         120    43 5         

)               150   100       

           5/1     (.   
180 40 7 −= = = 
1 (9  2 (8  3 (6  4 (4  

106-                             

  

      100°              

  .  

         .       

    46°            .  

       30° 2 4        70° .  

               55°   28 .    

1 (2  2 (3  3 (4  4 (5  

     

0 8 72= θ +  

0 4 17= θ +    

0 16 45= − θ +    

0 1 33= θ +    

www.konkkur.in

Telegram: @konkur_in



   29  1402    26

107 -50   %40      1 2  .             

         4    )      (.  
  140 80 14 1 −= = = =   

2 4 3 4 4 3 4 23 2 6+ → + 
1 (2 4   2 (9 6   3 (4 8  4 (4 2   

108 -      
     (   5/1  3           .  

 (      .          
 (  2               .     

  (                     .  
1 (4  2 (3  3 (2  4 (1  

109-             ) (.     
 (                   .  

 (        .          
 (               .       

     (            .  
1 (      2 (    3 (   4 (    

110-                    2 43   
         
1( ) 3    (         

            .       
2 (          50°    

       .        

3  (80               40°    

20°   10      .  
4 (            

     .      
  

10 20 30 40 50 60 70 80 90 100

10

20

30

40

50

60

70

80

90

100

(
ب

آ
م

ر
گ

1
0
0

ريال
د

ه
د

ونه
ش

ل
ح

م
ر

گ
)

ي
ر

ذ�
لپ

لا
ح

انه

)(Cدما

(1)

(2)

(3)

(4)

C

B

A

www.konkkur.in

Telegram: @konkur_in



   29  1402    27

  

111-                             
(.    )  

          .    
                .  
   .          

 .             
                
       .  
1 (1  2 (2  3 (3  4 (4    

112 -        
1  (                         

  .  
2(                       .  
3         (           .          
4 (                 .    

113 -      50    40  %13 44      0°   1 
 )     (             )      

  . .       139 35 5 16 −= = =  

3 2
Δ⎯⎯→ +   

1(201 3 245−   2(225 8 280−   3(225 8 245−   4(201 3 280−    
114 -        

1(           2             
  .  

2    (»«                    
        .   

3        (       .  
4       (       40       200        

  .      

:   
 :     1)91110 (2)111130 .           (

2 :    : 20 

A

B

C

D

E

F

گروه شچماريالة

ي
ر

ذ�
شپ

ن
�
وا

www.konkkur.in

Telegram: @konkur_in



   29  1402    28

115-            

     .          

                  .  

                  .       

                     .        

1 (1  2 (2  3 (3  4 (4     

116 -       :11 12 −= =  

1 ( »4    2 2-   «   3 3 2 2 5 2 3  .    

2  (            5           

       .    

3  (»5-   1-   « .          

4   (90    »2 2 3 3-    «           .   

117 -  1     4           6              

               ...............          

          282   1  2 -             ...............     

        .112 1 80 −= = =     )    (.

1 (20  30   2 (10  50   3 (10  30   4 (20  50   

118 -      100    120°   50     10°             .

      )        1 12 4 4 2 0 385 − −= = = °®§²H u¶JA(  

1       ( .        

2     (50   10°         .     

3          ( .        

4  (              .   

www.konkkur.in

Telegram: @konkur_in



   29  1402    29

119 -    1 6 4 3       .75      25°   

          23 34°    .         

4 3  )        11 14 16 −= = =       

 1 14 18 − −°              (.  
1( 265 75   2( 26 575   3( 531 25   4( 53 125  

120-        
             (  .  

  (              .      
 (                       .  

  (           .      
                (  .

1( ( )  ( ) ( )  2( )  ( ) (  3( )  ( ) (  4 ( )  ( ) ( ) (  

121 -Δ  2 2 2 2 2= + → −  154−          
       =      

1 (70   
2 (480   
3 (720   
4( 612 

122-            11 16 12 −= = = 
        .  
                     

   .  
                 .  
              4/4 .  
    5        .     

1 (2  2 (3  3 (4  4 (5     

−  −  −  −    

243  414  331  347   1−  

O

O

OH

N

H O

OCH3

NH2

www.konkkur.in

Telegram: @konkur_in



   29  1402    30

123 -    48         2 6 2 2 2
7 2 3 1562 52+ → + Δ = −  

             2 42+ → )(          
11 12 −= = 

    2 2 1 393+ → Δ = −  1   

    2 2 2 2
12 2862+ → Δ = −   

    4 2 2 2 33 2 2 890+ → + Δ = −   
1 (200   2 (20   3 (400   4 (40   

124-      
 (                     .  

   (       2-        8 .  
  (           .             

 (                           .     
1 (4  2 (3  3 (2  4 (1  

125 -           10  3   200     1/0     
       .    .................. »  ...................    «     

        
          3 
          
              

1 (4  
2 (3  
3 (2  
4 (1

126-   4   8       2       300      4 
      .3      1 1− −  116 −= 

  2 2 32 2+ →   

1 (1
160   2 (1

40   3 (1
80   4 (1

20   

www.konkkur.in

Telegram: @konkur_in



   29  1402    31

127 -20  2            2 2 22 2→ +       .    

  2         10 05 −              

                   2           

           65     (.    )   

1 (17  4  2 (17  3  3 (14  4  4 (14 - 3

128 -0 04              184 10×          

       .                    

    112 1 −= = ) (.       

1 (313 - 120400   2 (313 - 60200 3 (626 - 60200   4 (626 - 120400  

129-      11 16 12 −= = =

-                             

.           

-                 .      

 -         3 2 3 3  70  .      

-                 .    

1 (1  2 (2  3 (3  4 (4    

130 -1/5                           

8/0       .     50              

   11 12 16 −= = =

  2 2 2 3
+

+ ⎯⎯⎯→ +  

1 (5 10 2 88  2 (4 8 2 88    

3 (6 12 2 116    4 (7 14 2 116 

www.konkkur.in

Telegram: @konkur_in



  
  
  

    2929    14021402
          

  

  

      

      -  -  -    -    -      -   
  -  -  -  -   

   
 - - -  -  -  -   

  
    -  -  -  -  -   

   

 - - - -  -  -   
  -   -    -    -    -      -   

  -  -  -  -  -  -   
 -  

   
 - - - -  -  -   

   -  -  -   -    -    -    
  -  -   -  -  -   

 - -  
  

    

                   

                 

      
   

  
   

  
   

     
        
       

            

   
     

  
   

  
            

  
   

  

                  

                   
  

      

    
    

  :    :      
      
      

  
  

   
     (  )   

 :                923923               :   :64636463--021021

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   2  

  
1- »3«) (

        :          

2 21 7 6 0− < + − + − >   

)1             (3 2∈ −∞ − + ∞      

          :  

  
              

 22 7 2+ − ≤   :  

)2         (2 1 37 1 379 0 2 2
− − − ++ − ≤ ∈   

 ) 1)  (2  :  (  

1 2 1 37 1 373 22 2
− − − +

⎯⎯⎯⎯→ ∈ −   

2+ + + = −   

   ) 1-     :  3  5(

----------------------------------------------      

2- »1«) (

6

3

12 3
2 3 1

2 3

= ± − = ±
+ =

= +

     

 5
5
1 −= =  .  

   ) 1 -        :  54  58  67(

----------------------------------------------      

3- »1«) (

3 3
3 3

3 3 3 3 3
1 3 2 3 2

4 6 9 3 2
−

= × = −
+ + −

   

3 33 3 3 3 3 33 2 3 2 3 3 2 3 2= − = − − −   

3
3 3 311 3 6 3 6−= − =   

3
3 331 3 6 162− = =    

   ) 1-        :  63  67(

----------------------------------------------      

4- »2«) (

         ) :     

       (.  

1 2 1 2 3 12 2 3
1 25 5 5+ + + += = = =   

3 4 12 5
3 5 5+ += =   

              25= 

  .  :   

39
2 2 2 410 1 4 4 4

78 1
125 5 125 5 5= = = = =   

3 34 4 16= =   

18 15
93 16− = =   

   ) 1-     :  21  27(

----------------------------------------------      

5- »2«) (

           .    

                

 1=  =          .   :  

   (    =       .     

=   :            

2
2

20 0 0− + = = =   

   1 1= −       1=  .  

1 1 1= =   

2 1− −= =    

0=      .       

  

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   3  

     (=    1=   .  

2 4 0
0

Δ = − =
− = =

Rn¼Å  Á

Zoh¶  ¾à zÄn
   

02 4 0 4≠− = ⎯⎯⎯→ = =  

 
22

4 1
−

=
−

  12 4 3= =   .  

   ) 1-      :  86  88(

----------------------------------------------      

6- »1«) (

7 1
2 2α + β = αβ = −    

          :    

2 2 7 12 7 1 0 2 2α − α − = α = α +   

2 73 12α + = α +   

         7 7
2 2

′α = α +  

7 7
2 2

′β = β +   :  

7 49 777 72 4 4
′ ′ ′ ′= α + β = α + β + = + =   

49 491 4 494 4
′ ′ ′= α β = αβ + α + β + = =   

    :       

2 277 49 0 4 77 196 04− + = − + =IÄ   

   ) 1-    :  7  9(

----------------------------------------------      

7- »2«) (

     2 1α α + α +             

      2 1 0− − =     :   

2 22 1 1 2
5 5

α − α − α − − α − α +
= =    

      :        

21 7
2 4

5

α − +
α =   

  α   1
2α =      :  

7
74 5205

= =   

   ) 1-      :  78  82  

 1-   :   30(
----------------------------------------------      

8- »3«)  (

   :  
10 1 1 0×−≤ − < ⎯⎯⎯→− < − ≤   

      :  

0 0 0
1 1

∈ − = = × =
∉ − = − = × − = −

   

  
   ) 1-  :  49  52(

----------------------------------------------      

9- »1«) (

2 2

2 2 2
4 5 2 4 5 2

4 5 4 5 4 5
+ + + + +

= = +
+ + + + + +

     

2 2
2 21 1

4 4 1 2 1
= + = +

+ + + + +
   

       :   
12 22 0 2 1 1++ ≥ ⎯⎯→ + + ≥   

2
10 1
2 1

⎯⎯⎯⎯⎯⎯⎯→ < ≤
+ +

ÁoMHoMIº  ¸ÃÎoö

.´Ã¹¨ïÂ¶  t¼§÷¶  Hn
   

2
20 2 1 3
2 1

< ≤ < ≤
+ +

   

 1=  3=    2+ =
−

    .   

   ) 1-  :  44  45(

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   4  

10- »3«) (

   1−                 

=   :   .    

2 21 1 02 2
=⎯⎯⎯⎯→ + = − + =   

  :         

2 1 11 4 1 2 02 2Δ = − − = − = =   

 21 1 02= + ≥  1 2 1− = −  .  

1 3 01 23 1 31 22 2 2
− = >−⎯⎯⎯⎯⎯→ = = + = ⎯⎯⎯→ =   

   ) 1-  :  57  62(

----------------------------------------------      

11- »1«(  )

  
− ≥ ≥

⎯⎯⎯⎯→ = =
− ≥ ≤

4 0 4 44 0 4
¥HoT{H 

= ∈ ∈ = ∈ − + =2 1 4  

      :

−− + = ≤ − + < ⎯⎯→ ≤ − <12 1 4 4 2 1 5 3 2 4
÷ −⎯⎯⎯→− ≥ > −2 3 22  

 .         = − − 32 2    

   ) 1- :   66  70(

----------------------------------------------      

12- »2«) (  

  −∞               

 .          1=   

  = + = =0 3 2 1 3 1   

  + += + = + = =1 12 1 2 1 17 3   

  − =1 17 3      
   ) 1-     :  75  79(

----------------------------------------------      

13- »4«) (

20 15 5= − =          

524 24
0 20

2 20 5 203 3
=
=

= ⎯⎯⎯⎯→ =   

6
24 2

3 6

1
1 2 1 4

24 3 24 4
3

= = =   

2
6 6 6 6

66 6 6 6 626

1 4 0 2 2 2
2 3 2 6 2

2

− − −
= = =

− − −
−

   

6
6

38 382 22 2 100 100
38 242 2 1 2 1100 100

− −−
= = =

− − −
   

   38 38 7624 12 2= = =   

   ) 1-     :  72  79 86  87(

----------------------------------------------      

14- »2«) (

1 1
2 22 3 2 3− ++ = −   

1 1
2 22 3 3 2− ++ + =   

1 1 1 1 2
2 2 3 3 2 2 3 3 2− + − ++ = + =   

1 22 2 3 3 3 3 2− × × + × × =   

2 2 2 21 2 3 3 3 2 2 3 6 3 2 22 × + × = × + × = × 

22 0 2 22 3 6 3 2 2÷ ≠ − −⎯⎯⎯⎯→ × + × × = 

3
2 223 36 2 6 2 02 2

=
+ = ⎯⎯⎯⎯→ + − =   

2
3

1
2

= −

=

¡  ¡  ù

¡  ¡

   

3
2

1
3 1 1 1 22

32 2 2 3 2
2

−
= = = =

−
   

2
2 3=
−

    

   ) 1-     :  86  90(

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   5  

15- »1«) (

        2−      :    

060 3
3

= = =   

0 130 3 2 3
3

= = = −   

  8   :  .  

4 32 3 8 2 3 23
+ = − = = +   

   ) 1-  :  29  33(

----------------------------------------------      

16- »3«)  (

 3 3+ −     :        

1+ − +   

2 2 11 2 02= − + <    

 1 2 1− ≤ ≤  11 2 02+ >   :    

2 2 2 20− < < <   

                 

 4 4
π π− ≤ ≤  3 5

4 4
π π≤ ≤     »3 « .  

   ) 1-  :  36  39  

 1-  :  110  112(

----------------------------------------------      

17- »2«) (

  2 2θ − θ = θ   :  

0 0 0 0 0 012 50 25 25 50 25 252= − = −    

      :    

0 0 0 0 01 150 25 25 25 252 2+ = − +   

0 01 25 252= +   

  2
2α + α =
α

   :  

0 0
1 2 1
2 2 25 50

⎯⎯→ =   

   ) 1-  :  110  112(
----------------------------------------------      

18- »2«) (

    0=  −    .    

  :  
0 0

2 1
− −

−

→ →
− = = =     

   ) 1-    :  123  129(
----------------------------------------------      

19- »4«) (

3 23 3 3
2 2 3 230 0

1 1 1
1→ →

− − + +
= ×

+ +
    

2 2

2 2 20 0 0

21 12 2
63 3

4
→ → →

−
= = =   

2
0

1 12
6 6

2
→

= =   

   ) 1-    :  141  144(
----------------------------------------------      

20- »3 «(  )

=  ∈   .       
   :     

  = − =1 1 0   
  

+→
= − =1 1 0  

  1 1 0
−→
= − + =   

  :           

  = − + =1 1 0  

  +→
= − + =1 1 0

  
  1 1 0

−→
= − = 

     .          

 ) 1-   :   145  151(
  

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   6  

  
21- »1«) (

                      

 1
2     :    .    

  
1 9 33 3= = =   

32= =    
Δ

⊥ ⎯⎯⎯→    

6=   
2 2 6 43 3= = × =   

2 26 4 20 2 5
Δ

⎯⎯⎯⎯→ = − = =tn¼üIXÃÎ   
2 2 5 3 53= = =   

   ) 1-   :  66  67(
----------------------------------------------      

22- »3«) (

 :       

  
1

34
=

=
=

   

             

     1  4  :   .  

1
44
=

= =
=

   

1
33

=
= =

=
   

1
44

=
= =

=
   

1
1 12
2 232

Δ × ×
= =

+ ×
   

1 215 24 3 2 15= = =
+

   

4 4 302
15

= = =   

   ) 1 -       :  34 35 45  46(
----------------------------------------------      

23- »2«)  (
          .      

      :   .  

  
11 2 = =   

21 9 3× = =   
         :    

249 3 12 24 122= + = = = =   

112 12 1 11= − = − =   
   ) 1-   :  65  68(

----------------------------------------------      

24- »4«)  (
     )           (

     . :     2 2
3 3= =  

  

   :    3 3
4 4= =   

3 2 9 8 1 124 3 12 12
− −

= = − = = =   

   ) 1-  :        34  37(
----------------------------------------------      

25- »1«)  (

  =    =  :        

1

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   7  

  
1

1

1

Δ

Δ

⎯⎯⎯→ = =
+

⎯⎯⎯→ = =
+

u²IU

u²IU

   

2 3 7 1 72 3 2 1 3
= +⎯⎯⎯⎯⎯→ = + =   

   ) 1-  :        34  37(
----------------------------------------------      

26- »2«) (
                .

             .     

  
     )       (  
   :    

4 2
6 3= =

Áp¼²  ôÃd¶

Â÷±òïy{  ôÃd¶
   

   ) 1-   :  59  61(
----------------------------------------------      

27- »3«) (
 (  )        6  6     

   (  ) 1  1         
    6  .  

  
            7     

 11         :  
77 7 7

1 1 2 2 3 31 2 4 6 39+ + + + + + + + + + =   

5=   
   ) 1-   :  87  91(

28- »4«)  (

         015      1
4 

 :     

  
21 4 6 2 6 32= = = =   

4 4 3= =   
   ) 1-    :64(

----------------------------------------------      
29- »4«) (

              
                     

     .                  
           ) 
     .  (     

  
               

               .  
   ) 1-      :  11  14(

----------------------------------------------      
30- »3«) (

     3            
    25   :  .   

33 1 25 4 1 25 6= + + ≤ + ≤ ≤   
            3      

 :  3≥   
       » «       

   :  
3 1 71 32 2 2

= += + − ⎯⎯⎯⎯→ = + =   

3 6 21 21 21 10 5 10 52
≤ ≤⎯⎯⎯⎯→ ≤ ≤ − =   

   ) 1-   :  69  71(
  
  

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   8  

  
31- »3«)  (

     10              

     
0

0360 3610 =  :  .  

  
0 0

04 36 36 542 2
− × −= = =   

   ) 2-  :  15  16(
----------------------------------------------      

32- »3«)  (
        :  

  
22 54 4 1 3 20 0 4

=
+ + = + − − =

= − ¡  ¡ ù
   

 8=  10=   :        
2 210 8 6= − =   

   ) 2-  :  18  19(
----------------------------------------------      

33- »2«)  (
  :         

  
55 5= = = =    

            :  

  
22 4′ ′= = = =   

2 10 33 182
+ ×= = =   

   ) 2-   :      37  40(

34- »4«) (
    :     

  
11 =   

2 1 2 ′= =   
      ′         4  3     

 :      2 24 3 5′ = + =   
   ) 2-   :      40  41(

----------------------------------------------      

35- »1«) (

  

     :      
2

2 2 22 2+ = +   

   :       
2

2 2 252 2 21 8 22
++ = + + +   

2 2 2336 10 25 4 40 136×⎯⎯→ + + + = + +   
2 23 30 225 0 10 75 0+ − = + − =   

015 5 0 5>+ − = ⎯⎯⎯→ =   
7 10 13 2 30 15= =   :  

= − − −    

15 8 5 2 20 3= × × × =  
   ) 2-     :  69  73(

 ----------------------------------------------      

36- »2«) (
         :   

  

2

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   9  

2 2 2 2
Δ

= + − α   

2 2 210 18 2 18= + − × × α  

)1    (      
2

2 22436 224 36
+α = + α =   

           :     

2 2 2 2
Δ

= + − α   

2 2 210 6 2 6= + − × × α   

)2         (
2

2 6412 64 12
−α = − α =   

) 1)  (2  :  (  

2 2
2 2224 64 224 3 19236 12

+ −= + = −   

2 22 416 208 16 13 4 13= = = × =   

   ) 2-  :      66  67(

----------------------------------------------      

37- »2«)  (

        34  43         

 .       

   ) 2-   :      34  43(

----------------------------------------------      

38- »4«)  (

          :     

  
2 2 26 2 3 2 3 2 2 3 2 3= + − α   

24
36 12 12 24 24 12= + − α α = −   

01 1202α = − α =    

   ) 2 -   :      37  40 42  43  

    :  66  69(

39- »4«) (

′ ′> +            .  

                

     .     

  

3 1510 5
Δ Δ
′ ′ = =

+
   

  

3 3 7510 5
Δ Δ
′ ′ ′ ′ = =

−
  

15 3 75 18 75′ = + = + =   

   ) 2-   :      45  51(

----------------------------------------------      

40- »1«) (

      .     :    

  

88 =
⎯⎯⎯→ = =

=
u²IU   

  = :    

8 8= − = − = −  

       :      .    

8 6 8 6 28 8
−

= = − = =
+ +

    

   ) 2-     : 70(

  

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   10  

  
41- »4«  ) (  

  6 6 36× =  .      

 »2 4 0∃ ∈ − + =«         
     0Δ ≥  :  

2 16 0 4 5 6− ≥ =   

 »2 3 0∀ ∈ + + ≥«      :  

  1 0
0

= >
Δ ≤

   

  :  9 4 0 3 4 5 6− ≤ =   
     1 2=      . 

          .    
3 2 6× =           .  

     6 30 51 36 36 6− = =    .  

   )  -     :  9  15(
----------------------------------------------      

42- »2«  ) (  
    :      ≡ ∨     

≡ ∨   
≡ ∨ ∨ ≡ ∨ ∧   
≡ ∨ ∧ ∨   

   )  -  :      6  11(
----------------------------------------------      

43- »3«  ) (  
2 2

2 6 4− −
σ = =   

2 6 4− = ×    

   3              
      :  .  

2
2 6 4 43

− ×′= σ = = =
′ +

     

1206 4 4 12 2 4 12 524= + = = =   

   )  -  :    93  94(

44- »3«  ) (  
                  :  

1 42 1 3 26 6= = = = = =  )1   

3 2 12 1 1 2 36 6 6= = = = = = )2  

1 2 32 3 1 2 36 6 6= = = = = = )3  

22 1 3 1 2 3 6= = = = = = )4  

   4      2 2 1 3 3 1= 

             :    

1 4 4 1 1 18 126 6 6 6 36 2⎯⎯→ = × + × × = =   

3 2 2 2 1 3 10 526 6 6 6 36 18⎯⎯⎯⎯→ = × + × × = =   

4 2 2 2 2 12 126 6 6 6 36 3⎯⎯→ = × + × × = =   

   )  -  :  48  51  56  58(
 ----------------------------------------------      

45- »2«  )  (  
                 

        :  

20 18 17 15 7 1 136
1

2

+ + + + +
= =

+
=

¾º ¼ º  ¸Ã«º IÃ¶

¾÷¶I]  ¸Ã«º IÃ¶

   

1 13 252
+ = =   

                 

     :  

2
17 1520 18 17 15 7 1 162

1
2

+
= =

+
=

¾º ¼ º  à¾º IÃ¶

¾÷¶I]  ¾à º IÃ¶

   

1 16 312
+ = =   

     6  .  

   )  -  :    118  125(

   

¸Ã«º IÃ¶  pH  ýHodº H  RI÷Mo¶  Ì¼ \¶

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   11  

46- »1«  )  (  
      12  33        

             .     
           :     

5  12 33 54 75 96=    21=   
15  5 12 19 26 33 103=    7=   

35  3 6 9 102 105=    3=   

     7=   103       

      1
3  .  

   )  -  :    106  107(
----------------------------------------------      

47- »4«  )  (  
          :    

2 5 76 5 76 2 4σ = σ = =   
2 4 2 40 16 150 16

σ= = = =    

   )  -  :    93  97(
----------------------------------------------      

48- »1«  ) (  
      :    

′ ′−   

⊆

′=   

′ ′= = = =   
        :  

′ ′− = = ⊆   

∅

′⊆ = ∅   

   )  -  :      26  34(
----------------------------------------------      

49- »2«  ) (  
           :  

100 128= =   

100 812= =   

100 424= =   

× − × = × − × ×   

2= × −   

212 8 4 96 16 80= × − = − =    

   )  -  :      35  38(

----------------------------------------------      

50- »3«  ) (  

  :      

      
3 5 2
2 1 1
8 7
2 2

⎯⎯⎯⎯⎯⎯⎯⎯⎯→
»H ýoË pH ÂMA ½à o¿¶ 2 ³»j  ýoË pH  ªº o ÀoÃü  ½à o¿¶ 2   

      
3 5 4 3
1 1 1 1

8 7
2 2

⎯⎯⎯⎯⎯⎯⎯⎯⎯→
»H ýoË pH q¶o¤  à½o¿¶ 1 » ÂMA ½à o¿¶ 1 ³»j  ýoË pH  ªº o ÀoÃü  ½à o¿¶ 2  

      
5 3 4
2 1 1
8 7
2 2

⎯⎯⎯⎯⎯⎯⎯⎯⎯→
»H ýoË pH q¶o¤  à½o¿¶ 2 ³»j  ýoË pH  ªº o ÀoÃü  ½à o¿¶ 2  

   2    .         

           (    )    

 :          

3 5 4 3
1 1 1 1

3 5 2 3 5 4 3 5 3 4
2 1 1 1 1 1 1 2 1 1+ +

   

3 5 4 3
3 5 2 3 5 4 3 10 3 4

× × ×=
× × + × × × + × ×

   

180 180 6
30 180 120 330 11= = =
+ +

    

   )  -  :  58  64(

  
  

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   12  

  
51- »1«  (  )

         111 1 5 10× .  

                     

 .    

   ) 1-     :  7  10(
----------------------------------------------      

52- »3«  ) (  

 :       

=
ρ

=
ρ

+
ρ = = ⎯⎯⎯⎯→

+
   

2 2
1 1 1 1

=+
ρ = ⎯⎯⎯⎯→ρ = =

+ ++
ρ ρ ρ ρρ ρ

   

3

3

1 2

1

22 21 2 1 1 1 1
1

ρ=

ρ =

ρ
⎯⎯⎯⎯⎯→ = = =

ρ + ρ ++
ρ ρ

   

1 2 1 2 2 1 2 0 8ρ + = ρ = ρ   

3
1 2 1 50 8ρ = =   

   ) 1-     :  16  18(
----------------------------------------------      

53- »3«  (  )  

 600 300 3002= = =
1

× 60      

310
×

3 3 310
1 1

×
6 3 36

3
300 10 5 1060

×
= = ×  

   ) 1-     :  10  14(
----------------------------------------------      

54- »4 «                                                                     (  )

       .           

    :    

ρ 8001= =  
3800=

3800=  

            :   

3 310 1000= =  

= − 800 1000= −   

3200=  

          :    

3
400 2200ρ = ρ = =   

        :    

2 8040
′ ′

′ρ = = =
′

  

3
280200 280 740

′= + = ρ = = =
  

  )1-     :   16  18(

----------------------------------------------      

55- »4 «(  )

   ) 1) (2)  (3           (

  »4 «              

                

 .     

   )1-     :  28  32(

----------------------------------------------      

56- »3«  (  )  

ريالوغن

آب

{
{

10cm

10cm
 

  22 2 210 10 100 10−= × = =    

  = + ¸ü»nJA            

= ρ +ρ   

  =⎯⎯⎯⎯⎯⎯→ = ρ +ρ  

1

  

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   13  

3 310 0 1 1 0 8 10 1 8 10= × × + × = ×
3 21 8 10 10 18−= = × × =  

                 :  
    :  

31000 1000 1= = = =¸ü»nJA JA   
800 0 8 1 0 8 10 18= = = + × =¸ü»n RI÷ÄI¶  ·p»   

   ) 1-   :     32  35(
----------------------------------------------      

57- »4«  (  )  

                 .
           :    

20cm

A

h=

B

P = cmHg750

 
777
7500

77 75 2=
=

=
′ ′⎯⎯⎯⎯⎯⎯→ = + =

′= +
  

     20             
 2      .         

     .   
ρ  = ρ    

13 5 23
20

ρ = =

=
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→  

13 5 2× = ρ  20× ρ  31 35=  

         ρ   :  

ρ  
=ρ
=

+
= ⎯⎯⎯⎯⎯→ρ

+  2
ρ + ρ

=  

1 9 3
31 35 3

1 91 35 0 82

ρ =

ρ =

+ ρ
⎯⎯⎯⎯⎯⎯⎯→ = ρ =  

 ) 1-   :     32  40(
----------------------------------------------      

58- »3«(  )
        :  

  ρ = = = =
ρ

320 4 20 41   

)     2  (   :    

= = 6 8  

                  

         .     :    

  
  == + ρ = + ρ0 0  

  13 6 1 6 8 0 5ρ = ρ = × =  

   ) 1-    :    32  35(

----------------------------------------------      

59- »1«  (  )  
                 

   :    

2 2
2 1 1

2 1
2 2 2

2

1 1 10 02 2 2
3

1 12 2 3 82 2

= = = − × =

′ ′= Δ = =

= × − × × = −
  

−
= = −

22
21

8 161
2   

) 1-  :      61  63(  

----------------------------------------------      

60- »1«  (  )  

                

:         

  2 1− =   

  
21

2− =
   

11 10 1 16 4 0 42× × − × × = − =

   ) 1-     :  68  70(

 

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   14  

61- »1«  (  )  

                

.         

 2 21 2 2 11 22 2
2 1

1 1
1 1 2 2
2 2

= +
= Δ + = −

Δ = −
  

12 0 0 52 1
501

= = =

=
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→  

2 2
2 2

150 0 5 12 0 36 50 142+ = × − = − = −  

   ) 1-  :      59  64(

----------------------------------------------      

62- »4«  (  )  

:          

 200100 == × ⎯⎯⎯⎯⎯⎯⎯→  

  200 1000
0 6 3= =  

  =  −  1000 2003= −  

400
3=       400 60 80003= × =  

  )1-  :         73  76(

----------------------------------------------      

63- »3«  ) (

       :     

  12 1
1 1 1

21 1100 1 100 100
Δ = αΔθ αΔθΔ Δ× = = ⎯⎯⎯⎯⎯⎯→ = 

160 1 1
32000

Δθ= °⎯⎯⎯⎯⎯→α =
°

      3%     :  

  13
1 11 1 32000

3 3 3100 3 100 32000 100
Δ = αΔθ

α=
°

Δ Δ
× = = ⎯⎯⎯⎯⎯⎯→ Δθ = 

1

320
2 1 225320 345Δθ= °

θ = °
Δθ = ° Δθ = θ − θ ⎯⎯⎯⎯⎯→θ = °  

        :     

  3459 932 345 32 6535 5
θ= °= θ + ⎯⎯⎯⎯→ = + = °  

   ) 1-    :  84  94(

----------------------------------------------      

64- »2«  (  )

             :  

05

015
5
22 15

Δθ =

Δθ =

= Δθ ⎯⎯⎯⎯⎯→ =
= Δθ

= Δθ ⎯⎯⎯⎯⎯→ =
  

35
2 2
15

= =  

      :    

20
700 ′Δθ = θ − °

′Δθ = θ − °
′ ′Δθ + Δθ = ⎯⎯⎯⎯⎯⎯⎯→  

20 70 0 20 70θ − + θ − = θ − = − θ  

2
320 20 2

70 70 3

=θ − θ −
= ⎯⎯⎯⎯→ =

− θ − θ  
05 200 40θ = θ =  

   ) 1-  :     96  100(

----------------------------------------------      

65- »4«  (  )  

           00 :    

  1 2 2 1 20 84= Δθ = × × =  

:             

2 1 336 336′= = × =  

1 2 420= + =  

3420 10700 600 10×
= = = =  

   ) 1-  :     96  106(

   
 

 

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   15  

66- »2«  (  )  

                  

       .   20 % :    

2 1 1 1 1
20 120 6

100 100 5= + = = ∗    

     :    

= =  2 2 2
1 1 1

6
5

∗= ⎯⎯→ =  

2 1 2 1
6 6273 2735 5= θ + = θ +  

               8/1         

2 11 8θ = θ .    

1 1 1 1
9 6 9273 273 5 273 6 2735 5 5θ + = θ + θ + = θ +  

1 19 5 273 6 6 273θ + × = θ + ×  

0
1 1 13 273 91 91 273 364θ = θ = = + =  

   )1- :     119(

----------------------------------------------      

67-  »4«) (

                 

                 

                .

:      .      

) 1  :(   =⎯⎯⎯⎯→Δ = Δ =1 1 10 0SMIY  

) 2  :(   

= =−⎯⎯⎯→Δ = ⎯⎯⎯⎯⎯→Δ = −2 20 80
2 2 2 80   

) 3 :(    =⎯⎯⎯⎯→Δ = Δ =3 3 30 0SMIY  

:  

Δ = Δ + Δ + Δ Δ = −1 2 3 80  

   ) 1-  :  128  138(

  

68-  »1«)  (

         :  

= = =64 232  

    →   :  

Δ = − =−

= =
= − Δ = − Δ ⎯⎯⎯⎯⎯⎯⎯⎯→

= − × × − =

27 327 300
2 8

2 8 300 4800
  

    → :  

Δ = = − = −0 1000  

:

− = − − = − = −1000 4800 5800 5 8   

   ) 1-  :  139  140(

----------------------------------------------      

69-  »2«)  (  

:         Δ Δ= =2 2
1 1 1 1

  

Δ −= Δ = −
+

27 87 1
1 273 87 6  

−= − Δ = − × ×(− )× =3 31600 10 10 1006
   

   ) 1-  :  131  139(

----------------------------------------------      

70-  »3«)  (  

    :             

η =
   

η = = η ∗1
1 1 1

  

η = = η ∗∗2
2 2 2

   
∗ ∗∗ η η

η = ⎯⎯⎯⎯→η = =
+ η + η η + η

2 2 2
3 3

1 2 1 2 1 2  
   ) 1-  :  140  145(

  

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   16  

  
71- »2«  (  )

×
A

L

q
3q

1
q

2

L21
2L +

qE2

-1

E3

= =-8nC nC

 
   33 2       .     

933 9
3 2 2 2 2

9 922 2 2 2

8 10 2 10
2 4 4

1 10 10

−
−

−
−

× ×
= = = = ×

× ×
= = = ×

  

 >3 2              1 

 3 2−    2    .1 .      

1 3 2= −  

9 9 91 12 22

1 1

42 10 10 103 9
2

9 9
4 4

− − −= × − × =

= = −

   

 )2-  :    11  16    (

----------------------------------------------      

72- »1«(  )

                 

   0<  .  

  210 2Δ = Δ = −Δ − = θ 

θ= °⎯⎯⎯⎯→ − = − =180 2 21 10 2 2
  2−          

      .    :      

  

′ =

′ ′= =
′ ′ ′− = − ⎯⎯⎯⎯⎯⎯⎯→22

2
2 2

1
2

   

  
1 2

2 2 222 2
1 2 2 02 2

=
− = − ⎯⎯⎯⎯⎯⎯→ = − =   

   )2-  :    21  23(  
----------------------------------------------      

73- »3 «(  )

  0 00 0
=
κε

=

κε
= ⎯⎯⎯⎯⎯→ = × = κε =

κε
   

        =
κε

      .  

               .  

                .

                .  

       .            

              .   

          :     

  = 

        .  
+ + + + +

- - - - -

A

mg

F
E

q<

  
   ) 2 -  :    23  36(

----------------------------------------------      

74- »2«  (  )

:          

2 2 1 2 10
1 1 2 1 1

252 5 1 2 12
κ

= κε = × = × =
κ

   

                     

:         

=

=
= = × ⎯⎯⎯⎯→

22 2 2 1 2 1
2 1211 21 252

2
  

2
1

12
25=  −

= ×2 1
1

100  

1 1

1

12
1325 100 100 5225

−
= × = − × = − %

  
  )2 -  :    32  40(  

----------------------------------------------      

75- »1«)   (  

2 1 1 1 1
1 61 50250 5= + αΔθ = + × =  

=
= ⎯⎯⎯⎯⎯→ = =

2 1
6

2 1 2 1 25
1 2 1 11

5
6 6
5  

 )2-       :  52  54(  

2

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   17  

76- »2«) (  

           5  2    

     1             .

  2  5   1      1   

                   .

   1 3  4    .  

  

    

  ε=
+

  

  = =4 2 1
6 1

18 9
  = =3 2 1

12 2
18 9

 =2 1
3
9

 = =1
24 46

  

   

= =

= = > >

= = =

2 2
1 1 1 1

2 2
3 3 3 1 1 3 4

2 2 2
4 4 4 1 1

4
8

27
12 4
81 27

  

  1            

1 4=   .   

 )2-       :  61  74(  

----------------------------------------------       

77- »3 «(  )

                 

               

                 .

     8            .  

   )2 -  :        61  67(

----------------------------------------------      

78- »3« ) (

                  :  

    

    

    

  9
4 4= + + =   

  :                    

           .    

   )2 -  :        70  74(

----------------------------------------------      

79- »2«) (

          .     

 :       .      

  

22 22 6 8 0− − − =   

             (  )    .

       :       

2 2 2
11 2 6 1 8− = + = =   

  
                  

 :  1 2
1
8= =   

             :     

1 2
1 1 1
8 8 4= + = + =   

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   18  

:         

1 21 2 7 0 9 1 24 0 6
ε − ε −

= = = = Ω
+ + +

   

                

           .   .  

  
  

  
1 2

1 2 3
2 7 0 9 3

0 4 8 1 2 10
ε − ε −

+ + = = = =
+ + +

   

3
1 2

2 1

8 9
12 50= + =

+
   

1
1 2

2

8 9 0 098 100= = = =   

   ) 2 -       :  70  74(

----------------------------------------------      

80- »4«(  )

        :   

  
              .   

       .  

  ×= = Ω = + = Ω
+6 12 6 6 12

6 12 4 4 6 106 12   

     

  

      1         .12 

                  

      .            

                    

   :      .  

  = = =15 1 0 25  

   ) 2 -  :        67  74(

----------------------------------------------      

81- »3«  (  )

          .  

               

           .       

   .      

:              

2 2003
6 240 40 10 300 3 10

θ= =

− −= μ = × = = ×
= θ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→

   
5 2 424 10 200 3 10 1 6 103
− − −= × × × × × = ×  

                

    .  

B

v
F  

   )2 - :   84  95(  

----------------------------------------------      

82- »3«  (  )

                

  :       

00 31 21 2 0 3 0 3 0 6= == + ⎯⎯⎯⎯⎯⎯→ = + =   
×

= = Ω = = =
+

2 210 15 6 6 6 110 15

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   19  

W

T1T2

   == θ           

       .      

     .           .  
0 21 21 2 0 6 0 6 0 2 0 2′ ′= =

=
′ ′= + + ⎯⎯⎯⎯⎯⎯→ = + +  

0 2=  

W

T1T2 F

 
000 2 90

0 2 0 2 0 2 0 2 0 2 1

5

= θ=
= =

= θ⎯⎯⎯⎯⎯⎯⎯→ = × × ×

=  
                  

      .               

      .     

  

  )2 - :   91  94(  
----------------------------------------------      

83-  »1«) (

                   

μ
= 0

2  :  

−
−μ × ×= = = ×

×

7
50 1

1
1

12 10 1 1 2 102 2 0 05  
−

−μ × ×= = = ×
×

7
50 2

2
2

12 10 2 1 2 102 2 0 1  
−

−μ × ×= = = ×
×

7
60 3

3
3

12 10 4 6 102 2 0 4  
            1  3      

      2     :  .    

= − +1 2 3k¹ÄHoM   
− − −

−

= × − × + ×

= ×

5 5 6

6

1 2 10 1 2 10 6 10

6 10
k¹ÄHoM

k¹ÄHoM  

    .     

                

                  

= α        .  

   ) 2 -  :  97  98(

----------------------------------------------      

84-  »1«)  (

                

                

           :  .  

7
40 1 1

1 21

1

12 10 1 25 3 10 32 2 5 10
3

−
−

−
μ × × ×

= = = × =
× ×

= −

  

7
40 2 2

2 22

2

12 10 1 15 1 8 10 1 82 2 5 10
1 8

−
−

−
μ × × ×

= = = × =
× ×

= −

  

   :  = + = − −1 2 3 1 8  

   ) 2 -  :  97  98(

----------------------------------------------      

85- »2«(  )

        :  .  

2
15 375

2 2 2 10−
= = =

π ππ× ×
   

          :  

7 3
0

3754 10 2 10 100 3
− −= μ = π× × × = =

π×

 ) 2 - :   99  100(  

----------------------------------------------      

86- »4«  (   )  

  ΔΦ Δ θ
ε = − = −

Δ Δ
  

     Δ               

              .

.               

  )2 -  :       111  116(

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   20  

87- »3 «) (

             :      

ε =   
     .             

=
=

ε = ⎯⎯⎯→ε =   

2 2=
=

ε = ⎯⎯⎯⎯→ε =  

2
2
=

=
ε = ⎯⎯⎯⎯→ε =  

ε = ε < ε   

   )2-  :       111  116(

----------------------------------------------      

88- »3«  (  )  

              

          .         

        .         

                  

      .        

 
               

.    

   ) 2 -  :       117  118(

----------------------------------------------      

89- »2«  (  )  

                

      00  0180   .     
پ�چه سطح بر عچمود نه�مخط

B

 

               

         0090  .  

     :     

000 90 1500 0 151 2
2 23 4 4 10

θ = θ = = =
−=π π= = = ×

Φ = θ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→
  

2 2 0 0
2 1 3 4 10 0 15 90 0−ΔΦ = Φ − Φ = × × × × −

  
4 43 16 10 0 15 1 7 2 10− −ΔΦ = × × × × = ×  

4 4
0 4

7 2 10 18 100 4

ΔΦ=
− −Δ

Δ =
ΔΦ

⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→ = × = ×
Δ

ΔΦ
ε = −

Δ
ε

=

4200 18 10 0 182
−ΔΦ × ×= = =

Δ
  

  )2 -  :       111  116(

----------------------------------------------      

90- »4«(   )  

:                

2 2 2
2 1

2 600 0 6
0 12

1 1
2 2
′= + Δ = =

=

′= − = −

⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→
  

2 210 6 0 12 2 10 2 22
310 4 4 2

= × × + − = + − + +

= + =
  

=

=
⎯⎯⎯⎯⎯→ = × ×

1 2
22

0 12
1 30 122 2  

= × = =
90 06 0 135 1354  

  )2 -   :     121(

  

   

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   21  

  
91-  »4« ) (

)   (             
   5/1          .      

) 1-    :   4  6(
----------------------------------------------     

92- »4«  (   )  
             

 .           
     :  

 »1 :«                 .4 
   .  

 »2 :«  .  
+3 15 53 3 426 24 

 »3 :«   

>
↓ ↓

7 63 3   

= =3 3
4 3

   ) 1 -  :      5 6 23 27 30  32  37  39(  
----------------------------------------------     

93- »4«  (  )  
   :  

 (.  

 .  (   235 .   

.  (  = =1 21 1 
      .  (22   .

−−

2 2 6 2 6 2 2
22

210

1 2 2 3 3 3 4 

= =2 1
10 5  

   ) 1-    :   6 8 15  30  32(  
----------------------------------------------     

94- »4 « ) (
        :  

  + + = = =5 100 4 100 252 2     

    1 +2
2 4

3
+     

 %25%12 5%62 5  .  

         2
1
+      

     3       :    

  → 2 2 6 2 6
1 1 2 2 3 3 3 4      

        13        

  .    + →2 2 2 6 2 6
1 1 2 2 3 3 3   

  = =
+ +

4 82 2 2 3  

   1   )   (28 .  

  = × =528 354  = 28    3   

  = + = = + =28 35 63 4 59  3   

    3 59
28 1

61
28 2 63

28 3  
 2512 5 62 5  .  

  + + × + × + ×= =
+ +

1 1 2 2 3 3
1 2 3

25 59 12 5 61 62 5 63
100

 

= 61 75
  ) 1 -  :      5 6 13  15  30  34(

----------------------------------------------     

95- »1«   ) (  
  :  
 »1 :«  

  =
= × + =4 3 4

4
3 5 5 20IÀï´UH jHk÷U

  

=
20 54  

 »2 :«             2  
   2    2         

  2    2  .  
 »3 :«  2          

            2   
                 

     .  
 »4 :«              

                 
 .        

    )1-  :     98 99 113 114 123 124  127(  
----------------------------------------------     

96- »4 «) (  
               

  )      (      .  

1

    4  
    3

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   22  

    :    
 »1 :«                

     .    
 »2 :«                 

         4 4  9 .  
 »3 :«             

      )       (       
)     (  .  

  ) 1-    :   19  27(
----------------------------------------------     

97- »1«   ) (
.       

-  :     −−79 2    

  

n = e +
25
100

e n = 1/25e

{ {
79-z= 1/25 (z+2) z =34

گروه :16

دورياله    چمهاريالم:
  :  

     (  16         
        .(  ) -      

 :
:X:: .    

 (       :           
22 2 6 2 6 5 11 2 2 3 3 3 4 )1  
2 2 6 2 6 5 21 2 2 3 3 3 4)2  

               
 .         

 (          
2 2 6 2 6 10 2 4

34 1 2 2 3 3 3 4 4

3 1 4 0
↓ ↓

= = = =
 

8   + = 4   .  
(    

  × + × =10 2 4
34 3 4 4 2 4 4 4 24

SÃÎoË à¾Ä¯

   

  (    −

≥

6 6 10 62 2 2 2 2
34

1

1 2 2 3 3 3 4 4   

28   ≥ 1 .       
 ) 1-    :   30  35(  

98- »4«(  )
   .   ( )  ( )    :  

        :( )       
            .  

         :( )      
        500 .        

  :( ) 75     .        
)    :( ) 079/78   (3    

) 952/20 (   . 
   ) 1-    :   46  49(

----------------------------------------------     

99- »1  « ) (
                  

           2 :  

    2  −
3  −2

3  2
  

   S S.. .... ..C  
O O

N

O
..

....

.. ..

....

..

-

  O O

C

O::

: :
: :: :

2-

  Cl Cl

C

O::

: :
: :: :  

Ákº¼ÃQIº

Ákº¼ÃQ

ï·»oT§²HïSÿ]nI {

ï·»oT§²HïSÿ]nI {

  
=

4 14  =
8 24  =

8 24  =
8 24  

   ) 1-     :   55  56(  
----------------------------------------------     

100-  »2« ) (
 .         

:    
(      

      (2 4  2   

 (= =− −− =    
                  (

                .  
  (            .     

                
     200 .   

 ) 1-    :   53  58(
----------------------------------------------     

101-  »1«(  )
      .  

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   23  

        :        
             .  

   :    2           
2 4     .  

                :  
          .  

   :2           .  
  :   .       

 ) 1-    :   56  60(
----------------------------------------------     

102-  »3«(  )
                 

   :  + → + +2 4 3 22 2 1 
= +

= =
= +

2 2 2 24 6

= × ×2 42 4
2 4 2 4

1 255 2 92 2

× =22 4 13 441  

  + → +3 2 24 5 4 6 

= × × 33
4113 44 22 4 4

× =3 3
3

17 10 21  

) 1-    :   63 64 80  81(
----------------------------------------------     

103- »3«  (  )

  = × ×2 22 2
2 2

1 13 6 18 1   

  × =2 2
2

22 4 4 481  

  = × ×2 22 2
2 2

1 22 76 22 4 1   

  × =2 2
2

22 4 5 521  

  + =2 24 48 5 52 10
y¹¨H» »j oÀnj

½k{Jm] Ì¼ \¶   

  = × =2
2

7 510 501 5
H¼À

H¼À ½k{ï¾Ãÿ~U ÁH¼À   

   ) 1-    :   79  81(  
----------------------------------------------     

104-  »1«(  )
          :  

  = × × = = ×3 34 4 4 64 64 10   

  = × × × = ×3 6
2 2

1000 164 10 64 101 1   

   :         

  
−

− −= × × =6
2 6

2

14264 10 9088
10

   

   2      :  

  2
2 2+ −→ +   

  
−

−
− −= × × 22

119088
35 5 2

   

  × ×2 2 2
2 2

111 1 14 21 1000  

  5 :    5 14 2 71× =   
) 1-   :   94  95(

----------------------------------------------     

105-  »2«)    (
              :  

:       

  2 2
2

150 1
250 200× ×

¼±d¶

− = 90   

  
2

2 0 541
−

−× =  

 :     

  × ×
1 5 43 5
1 100

¼±d¶

¼±d¶ ¼±d¶

− =120   

  
−

−× × =1 1 0 987 1  

           :  

  =
½kº ¼{ï®e ÁIÀï ¼¶ Ì¼ \¶

IÀï ¼±d¶ ´\eÌ¼ \¶
    

  +=
× + ×

0 54 0 9
1 190 1201 5 1000

³»ï j ¼±d¶  ´\e
»ï H ¼±d¶  ´\e

  

  1

3

1 44 1 44 81 0 18180
10

−= = =
×

   

 ) 1-   :   96  100(
 ----------------------------------------------     

106-  »3«(  )
           

:    
                   :  

 .  
               = θ + = θ + θ = −0 8 72 0 4 17 0 4 55   
        0 8 72 0 16 45 0 96 27= θ + = − θ + θ = −   

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   24  

      °100         
       .     

 :                   
     .   4           

     .  
  :      

  = − θ + = θ +0 16 45 0 1 33   

  °= θ θ12 0 26 46  
:    

  
°θ=

°θ=

= θ + ⎯⎯⎯⎯→ = + =

= θ + ⎯⎯⎯⎯→ = + =

30

70

0 8 72 0 8 30 72 96

0 1 33 0 1 70 33 40

½à jI¶

½à jI¶

   

  96 2 440 =   

  :    

  
°θ== θ + ⎯⎯⎯⎯→ = + =550 4 17 0 4 55 17 39   

  39 100 28139= ×    

) 1-   :   100  103(
----------------------------------------------     

107- »3«  (  )  
 

= × = ×2100 40 10050
½kº¼{ï®e ³o]

¼±d¶ ³o] 
  

= 202

 
 

  = = =50 501 2 1 2
¼±d¶ ³o]

¼±d¶ ´\e
 

−= ×50 3101 2

= × ×
1 62 4204 2 200 32 2

=0 2 4
−

−
= = =

×

1
3

0 2 4 850 101 2

½kº ¼{ï®e ¼¶

¼±d¶ ´\e
  

   ) 1-   :   103 106  107(  
----------------------------------------------     

108-  »4« ) (
  » «  .     :  

        (           
.  

  (              

  ( )       .  

 ) 1-   :   104  108  110(

----------------------------------------------     

109-  »1«(  )

:     

        ( .  

  (             

      (  .    

) 1-   :  108(

----------------------------------------------     

110- »3 «) (  

 )1) (2) (3)  (4         (  

 3 2 4  .     

        40° 20°     

60   (  )30  100       

40°160 )  100   60        (

20°  30  :   .       

  = 80      80    

  3 30 15160× =   

     :   :         

  1 2
1

60 30 80 30 15100 100 60 80 160
− − ×= = = =
+ +

   

     :  

 »1 :«   »    «      

        .     

 »2 :«  »   «       

              

 .       

 »4 :«            

        .     

 ) 1-   :   108  111(

  

   
  

    
   

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   25  

  
111- »3 «(  )

      .     
               . :    

1  ( )   (     ( )  .   ( )  
2 (                   

     .  
3 (        .  
4   (      .         

   .     
5  (    3          

    1  6   .     

 ) 2-     :   6  9(  
----------------------------------------------     

112-  »4«(  )
 »1 :«              

      .           
          .  

  

19    11    3      

231    186    152     
  

35   17    9       

114    99    71      
 »2 :«     12       

                 
                

                 
     .  

 »3 :«.  
  »4 :«              

.     
200

180

160

140

120

100

80

�
تچم
ا ع

عا
ش

(p
m

)

11
Na

12
Mg

13
Al

14
Si

15
P

16
S

16
Cl

  
 ) 2-     :   11  13(

113- »3«)   (
:           

33 22 2 3→ +     

  = × ×2 33 2
2 2

1 213 44 22 4 3    

  × × × =3 3
3

122 5 100 100 2451 50 40
}²IiIº

}²Ii
   

               
  :  

  = × × =2 22 2 2
2 2

1 3213 44 19 222 4 1   

  = − =245 19 2 225 8   
 ) 2-     :   22  25(  

----------------------------------------------     

114- »1«(  )
      2     

  .             
    :    
 »2 :«              

                   
 .       

 »3 :«             
   .  

 »4 :«        40       
             60   

 25   .    
   ) 2 -  :       23  25 28 40  47(

----------------------------------------------     

115-  »2«(  )
      :   .  
  :             .     

  .        
     :35    2 .    

                 :  
            .   4   

  .          
    :  6 6      

18 38      25 52   .   
   + =6 18 24    .      

) 2-     :   28  36  42(  

2

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   26  

116-  »2«(  )
  :  
 »1 :«   3 3 2 2 5 2 3 »4- 

 2 2-    «       (    )    
.    

 :               
   .    

 »2 :«     »2 2 3 3-   «.  
H H

C C

H H

HH C CCH
3

CH

CH CH

3
CH

3

3 2

CH

CH
3

3  
  »3 :«             »1- 
  5-   «.  

 »4 :«      99 20      
:         

  = ×
+

100    

  = × = ×
+

12 9 108100 100 84 3712 9 20 1 128 %   

) 2-     :   36  39(  
----------------------------------------------     

117- »3«   ) (
       :    

  

+ →
+ →
+ →

3 4 2 3 8
2 4 2 2 6
2 4 2 2 4 2

2

   
    40          2    2 

 4           44   .  

  = × =
4 100 1040      

  6 ) 3   (2              
         .          .

 2 4    :         

  
= ×

× =

2 4 22 4 2 4 2
2 4 2

2 4 2 4
2 4 2

1282 188
1 1 51

 

  5/2 .        
= − =4 2 5 1 5   

  = × =2 61 5 100 305        

   ) 2-     :   40  41(  
----------------------------------------------     

118-  »2«(  )
                    

           .     
   :  

 »1 :«                    
 .               

 »3 :«             
.             .  

  − − −= × ° = °1 1 1100 0 385 38 5u¶ 

  − − −= × ° = °1 1 150 4 2 210JA 

 »4 :«           
       .  

 ) 2-   :   54  59(
----------------------------------------------     

119- »2« ) (  
       6/1         :  

  = Δθ = + × × −75 1 6 4 18 23 34 25 531 5   
   80       .   
   80           :  

  = × ×4 34 3
4 3 4 3

80 531 51 1 1 6 

× =1 26 5751000  

   ) 2-   :   58  72(
----------------------------------------------     

120- »2«(  )
   » « » «.    

    :  
      :( )   .  

          :( )     
  .    

               :( ) 
       .    

     
        

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   27  

  :( )             
.        

.         :( ) 
  ) 2-   :   56  62  68  70(

----------------------------------------------     

121-  »4«(  )

  − Δ =y¹¨H»   

  4 − = −Δ = Δ + Δ + Δy¹¨H»   

  4 2− − −− Δ + Δ + Δ  
  =− = Δ + − × +154 243 2 331 347   

  −
=Δ = 1612  

  ) 2-   :   65  68(
----------------------------------------------     

122-  »3«(  )
.          

:    

O
O

OH

N

H O

OCH3

NH2

*

*

*
*

  
 :                   

 .  
:                     

           
      .  

   :                ) 
  (  −−  .  

     :  14 18 2 5  :  

  ×=
×

5 16 4 418 1
·sÃv¨H Â¶o] kÅnj

·r»nkÃÀ Â¶o] kÅnj
   

    :  4      ) .      
    (    

 ) 2- :   42  82(
 ----------------------------------------------     

123-  »3«(    )
    48  :    

  + → + +2 6 2 2 2
7 2 3 1562 52   

  × × =2 62 6
2 6 2 6

1 1562 548 250030 1   

:             
+ → Δ = −2 2 393 )( :1    

  + → Δ = −
= −

2 2 22 2 2 286
572

 :2  2  

  2 2 4 22 2+ → +  :3  

  890 890Δ = − − =   
′+ → Δ = − − + = −2 42 393 572 890 75 )(  

  = × × =1 122500 40075 1   

) 2-   :   70  74(
----------------------------------------------     

124-  »2« ) (
.   ( )  

      (            
        .  

         (2-   7 14      

7 6 .      
) 2-   :   68  69(

----------------------------------------------     

125-  »3«(  )
 .       

                  
                 
            .  

:    
 »1 :«        .  

 »2 :«       3   
           .  

 »3 :«         .  
 »4 :«       .  

  ) 2-   :   80 81  90(
----------------------------------------------     

126-  »3«(  )

  = × =22 2
2

1 18 32 4   2   

  = × =2 2
2

1 14 32 8 2   300   

 
 

   
  

 

www.konkkur.in

Telegram: @konkur_in



  »  29  1402«   28  

  1 122

1
8

14
5 160

− −

−

Δ
= − = − =

Δ
   

  − −= = × = 1 1
3 2

1 12 2 160 80   

) 2-   :   88 89 90  91 (
----------------------------------------------     

127- »2«  (  )
               

          2 .     

  − − −
= =1 2 2

200 05 1760   

              2    

      ) :−10 05 (.  

  − − −
= =1 2 2

200 05 14120   

  65        35       
 .  

  × =
35 20 7100   

        7        .
                     
 :    

÷⎯⎯→2
0 2 3
20 14 7

·I¶p

½k¹Àjïy¹¨H» ¼¶
   

     13          7     
  .   

   ) 2-    :   83  88(  
----------------------------------------------     

128-  »4«(  )

       8 8       
−1104    .     0 04       

:    
H H

C C

H
H

H H

H

بسپاريالش

H H

C C

H
H

H H

H

HH

n

n

  

  ×
= ×

23
8 88 8 8 8
8 8

6 02 100 04 1
¼§²¼¶   

  = × 22
8 82 408 10  

    )         (
          :  

  ×= =
×

22
18

2 408 10 6020
4 10

   

  − −= × ×1 116020 104 6261000     

  = × =6020 20 120400   = ×     
 ) 2-    :   102  104(  

----------------------------------------------     

129-  »2«(  )
.          

 :  

CC

HH

H

CC

FF

F F

  
                                       

 :          .      
  :    

  −− −1 1
3 2 3 3102 32  

  −= − = 1102 32 70  
  :                 

      .         
 ) 2-    :   104  108  112  114(

----------------------------------------------     

130- »1«    )99(
  − −+ → +2 2 2 1 2 2 2 3 

×
1
1 ×

+
1

14 32= 5 1

 × =
50 0 8100

× 32
1  

    = →5 10 25  

  −1
4 8 2 88: 

   ) 2-      :  107  114(  
  
  

 
 

  
 

  
  

www.konkkur.in

Telegram: @konkur_in


